THE GAUHATI HIGH COURT
(HIGH COURT OF ASSAM, NAGALAND, MIZORAM AND ARUNACHAL PRADESH)
Examination for the Post of Computer Assistant
Total Marks: - 100 Duration: - 2 hours
Each question carries 1 mark

GENERAL KNOWLEDGE (20 QUESTIONS 1 MARK EACH)

1. Who was the first Indian in independent India to have won a medal in an individual
Olympic event?

A) Dhyanchand B) K.D Jadhav
C) Prithipal Singh D) Harishchandra Birajdar
2. The constitutional position of President of India is most closely similar to
A) U.S President B ) British Monarch
C) Russian President D) British Prime Minister
3. Who wrote Rakta Karabi?
A) Rabindranath Tagore B) Jawaharlal Nehru
C) Kalidas D) Kautilya
4. Which is the longest dam in India?
A) Nangal Dam B) Bhakra Dam
C) Maithon Dam D) Hirakud Dam
5. Which is the smallest country in the world?
A) Vatican city B) Tonga
C) Naura D) Monaco
6. Dandiya is a popular dance of
A) Maharashtra B) Punjab
C) Gujarat D) Tamil Nadu
7. India’s first satellite is named after?

A) Aryabhatta B) Bhaskara II



10.

11.

12.

13.

14.

15.

16.

C) Bhaskara I D) Albert Einstein

Indira Gandhi was assassinated in the year

A) 1974 B) 1984

C) 1994 D 2004

Pulitzer prize is awarded for outstanding work in which of the following field?
A) Science and Technology B) Environmental Studies

C) Literature and Journalism D) International Understanding
Where in Guwahati is the headquarter of North East Frontier Railway situated?
A) Noonmati B) Jalukbari

C ) Borjhar D ) Maligaon

The magnitude in the Richter scale of the earthquake in 1950 in Assam was?
A) 8.6 B) 8.9 C) 6.8 D) 5.6

What is the length of the river Brahmaputra?

A) 1900kms B) 2500kms

C) 2800kms D) 2900kms

The state tree of Assam is

A) Garjan B) Hollong

C) Bhelu D) Teeta chap

Which one of the following states shares boundaries with the maximum number of

other states of India?

A) Madhya Pradesh B) Maharashtra
C) Bihar D) Assam
Which is the chief constituent of Hemoglobin?

A) Sodium B) Iron

C) Potassium D) Sulphur
Ramanujan is famous as a great



A) Philosopher B) Mathematecian
C) Musician D) Poet
17. URL stands for
A) Uniform Resource Locatorb B) Uniform Resource Link
C) Uniform Registered Link D) Unified Resource Link
18. Which is the largest planet?
A) Mercury B) Saturn
C) Jupiter D) Venus
19. Who appoints the Chief Justice of India?
A) President B) Prime Minister
C) Council of Ministers D) Attorney General
20. Gateway of India is located in
A) New Delhi B) Chennai
C) Kolkata D) Mumbai
APTITUDE QUESTIONS (10 QUESTIONS)
21. Select the word which is different from other three words
A) Jaipur B) Raipur C) Kanpur D) Shillong

22. Raghu travels 150kms towards East, then turns right and travels 50Kms. He then
turns right and travels 150Kms. How far is Raghu from the starting point?

A)30 Kms B) 10 Kms C)15 Kms D) 50Kms
23. Clock : Time :: Thermometer :

A) Wave B) Energy

C) Temperature D) Heat
24. School: Education:: Court:

A) Jail B) Justice C) Lawyer D) Judge
25. Which one is the same as Mumbai, Kolkata and Cochin

A) Kanpur B) Delhi C) Chennai D) Sholapur

26. ACE: BDF :: GIK :



A) HIL B) AXP C) CFG
WHICH ONE DOES NOT BELONG TO THE GROUP?

27. A) 63 B) 84 091
28.A) Red B) Pink C) Green
29. A) Bail B) Application C) Affidavit

30. Mirror is to reflective as glass is to

a) Transparent b) blue

GENERAL ENGLISH (20 QUESTIONS 1 MARK EACH)

FILL UP THE FOLLOWING WITH APPROPRIATE PREPOSITION

31. Indebted

a) of b) to ¢) from
32. Life is not a bed __ roses

a) with b) of c)for
33. My Father will retire from service ___ a year

a) of b) on ) in
34.Dont look __ on him

a)on b) for ¢) down
35.1am angry ___ my sister

a) with b) at c) to

FIND THE CORRECT AUTONYMS

36. Oral

a) verbal b) imaginary C) written

37. Decline
a) Accept b) refuse ¢) deny

38. Minority

a) Few b) less C) majority

39. Float

a) Swim b) ride c)sink

D) GFC

D) Yellow

D) Movie Ticket

¢) Omni - directional d) Window

d) at

d) off

d) at

d) up

d) for

d) illegible

d) direct

d) large

d) drive



40.

Modern

a) Ancient b) new c) fresh

FIND THE CORRECT SYNONYMS

41.

42.

43.

44,

45.

Calm

a) Loud b) quiet ¢) complete
Trash

a) Mud b) dirty ) garbage
Enormous

a) Large b) small c¢) fabulous
Coarse

a) Smooth b) clean ¢) terrible
Partial

a) Favouring b) unequal ¢) biased

FILL UP THE FOLLOWING WITH CORRECT ARTICLES

46.

47.

48.

49.

50.

51.

Itis __ absurd story

a)a b) an c) the
__honest man is always respected

a) an b) a ¢) the

Let us play __ chess

a)a b) an ¢) no article

Itis ___ one man show

a)a b) the ¢) no article

I enjoyed ___ DVD you gave me for my birthday

a) the b) an C)a
Dpi is a term associated with

A. Printers

B. Scanners

C. Switch

D. BothA and B

d) current

d) noisy

d) neat

d) kind

d) rough

d) Fairless

d) no article

d) no article

d) the

d) an

d) no article



52.

53.

54.

55.

56.

57.

58.

59.

UTP is a term generally associated with
A. Printers

B. LAN cables

C. Digital Camera

D.BothAand C

500 GB SATA 7200 rpm is associated with which item
A. Desktop Monitor

B. Scanners

C. Hard Disk

D. Processor

The term TFT/LED is associated with
A. Printers

B. Scanners

C. Switch

D. Monitor

SMPS is used to provide

A. Memory services to the motherboard
B. Power to the Computer

C. Ports for LAN connectivity

D. Internet connectivity

SCSI is a term related with

A. Network Data Transfer

B. Keystroke Rate

C. Storage

D. Picture resolution

What is the first step when the error “Paper Jam"” shows on Screen?
A. Open the CPU

B. Check the Printer

C. Disconnect the Power cables.

D. Format The Computer.

Which network medium carries light-based data through strands of glass or plastic
no thicker than a human hair?
A. Coax Cable

B. UTP Cable
C. Fibre Optic cable
D. Wireless

What is the collection of wires connecting the CPU with main memory called?

A. Bus B. Cable

C. Wire D. Cord



60. Full Form of S_MPS?

A. Switching Modulated Power Supply B. Switched Mode Power Supply
C. Simultaneous Mode Power Supply D. Supplied Motor Power Supply

61. What is Unicode?

A. Standard Font B. Keyboard Layout
C. Character Encoding System D. Software
62. In Computer System Scanner is Device?
A. Input B. Both Aand D
C. None D. Output

63. Speed of Laser Printer is measured in?
A. DPS ‘ B. DPI
C. LPM | D. PPM

64. Which of the following Devices cannot be shared in Network?
A. Hard Disk | B. CD Drive
C. Mouse ' D. Printer

65. Which of the following-is not Computer Hardware?

A. Printer B. Keyboard

C. Antivirus D. Mouse
66. R145 UTP cable has Cables?

A. 4 pair B. 5 pair

C. 2 pair D. 3 pair

67. Which of the following is an advantage of the database approach?
A. Elimination of data redundancy B. ability to associate related data
C. Increased security D. All of the above

68. Functions in MS Excel must begin with
A. An () sign B. A Plus Sign

C. An Equal sign D. A > Sign



69. How many sheets are there, by default, when we creéte a new Excel file?
A. 10 B.5
C.1 D.3
70. In Excel, which one denoted a range from B1 through E5?
A. B1-E5 B. B1$E5
C.Bl1toE5 : D. B1:E5
71. The process of removing unwanted part of an image is called
A. Cropping B. Hiding

C. Bordering D. Cutting

72.To apply center alignment to a paragraph we can press
A. Ctrl+S B. Ctrl+C+A
C. Ctrl+C D. Ctri+E
73. The space left between the margin and the start of a paragraph is called
A. Spacing B. Gutter
C. Alignment D. Indentation
74. Which one can be used as watermark in a word document
A. Text B. None
C. Image D. Both Aand C
75. Which feature starts a new line whenever a word or sentence reached a border
A. Text Line B. New Line
C. Text Align D. Text Wrapping

76. Which item is printed at the bottom of each page

A. Header B. Foot Note
C. Title - D. Footer

77. A number or letter that appears little above the normal text is called :
A. Toptext B. Superscript

C. Supertext D. Subscript



78. To change line height to 1.5 we use shortcut key :

A. Ctrl + 3 B.Ctrl + 1
C. Ctrl + 2 D.Ctrl +5
79. We can insert a page number at
A. Footer B. Both Aand D
C. None D. Header

80. Which of the following is hot Computer Hardware?

A. Printer B. Keyboard

C. Antivirus D. Mouse
81. RJ45 UTP cable has Cables?

A. 4 pair B. 5 pair

C. 2 pair D. 3 pair

82. Which of the following is an advantage of the database approach?
A. Elimination of data redundancy B. ability to associate related data
C. Increased security D. All of the above
83. The term Bootstrap is related to:
A. LAN designing B. Related to Hardware
C. Web designing D. none of the options
84. What is Hadoop about

A. It provides a software framework for distributed storage and processing of big
data

B. A type of UPS for high end computing
C. BothAand B
D. None of the above

85. The bandwidth handling capacity of CAT 6 cable is times of CAT 5 cable

A. Two B. Equal

C. Hundred D. None



86. What is full form of MFD in MFD Printer?
A. Multi format Dot B. Multifunctional Device
C. More Functional Device D. None
87. Which is not related to Internet?
A. WWW B. TCP/IP
C. ISP D. All of the above

88. Which is not the search engine?

A. yahoo.com B. bing.com
C. ebay.com D. google.com
89. is the service of the Internet through which remote computer can be

accessed from another location.

A. Newsgroup B. FTP C. Telnet D. E-mail

90. The service of the Internet that provides audio and video conversation is
A. Chat B. E-mail
C. Video conference D. None

91. Printer Drum is present in

A. Laser Printer B. Dot Matrix Printer
C. Ink-Jet Printer D. All of the above
92. Inkjet printers and laser printers are examples of printers.
A. nonimpact B. impact
C. thermal D. dot-matrix

93. To make a number in cell C1 10% smaller than the number in C3 you enter
A. =C3*1.10 B. +C3*110 C. =C3%10 D. =C3*0.90
94. On an excel sheet the active cell in indicated by ...
A. A blinking border B. A dotted border
C. A dark wide boarder D. None

95. The advantage of using a spreadsheet is:

A. calculations can be done automatically

B. changing data automatically updates calculations



C. more flexibility
D.All the above

96. To select a column, the easiest method is to......
A. Double click any cell in the column
B. Drag from the top cell in the column to the last cell in the column
C. click the column heading D. None

97. Which of the following software products is most appropriate for designing
interesting and attractive Web pages?

A. Microsoft Project B. Macromedia Dreamweaver
C. Windows Media Player D. Nagios
98. WAV, WMA, and AIFF are examples of: WAV, WMA, and AIFF are examples of:
A. encoder programs
B. audio editing software.

C. text file formats.
D. audio file formats.

99. With Apache OpenOffice, we can

A. Only do word processing B. Only Spreadsheet related works
C. create multimedia presentations D. All
100. Libre Office is a
A. Microsoft Software B. Network Monitoring software
C. Office Suite D. Hardware diagnostic Tool
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